
©D o2c0W1a8c oKnuLtYaF hSoolfitswGaYrUe[ bLILYCm.w C zAUlQlP ZrCisgRh`tYsz rrzeSsVewrLvoerdL.h C EMmaidIeK \w^ict]ha UIlnIfZiwnNiMtoex FAolCgDeWb^rraT K1T.

Worksheet by Kuta Software LLC

Secondary Math 1 

Writing Linear Functions
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Write an equation that fits the given criteria.

1)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

2)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

3)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

4)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

5)  

x

y

-5 -4 -3 -2 -1 1 2 3 4 5

-4

-2

2

4

6)  Slope = 
3

4
,   y-intercept = -2

7)  Slope = 
7

5
,   y-intercept = 3

8)  Slope = 2,   y-intercept = 4

9)  Slope = -
1

2
,   y-intercept = 1 10)  Slope = 

1

2
,   y-intercept = -2
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11)  through: (-1, 3),   slope = 0 12)  through: (-5, -4),   slope = undefined

13)  through: (1, -2),   slope = -
7

5
14)  through: (-3, 1),   slope = 

1

2

15)  through: (-1, 2),   slope = -1 16)  through: (4, 1) and (1, 2)

17)  through: (5, -4) and (5, 1) 18)  through: (4, 4) and (-1, 3)

19)  through: (-2, -1) and (3, -3) 20)  through: (2, 3) and (-1, -2)
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Answers to Writing Linear Functions

1)  y = -3x - 5 2)  y = 2x + 1 3)  y = x 4)  y = 4x - 1

5)  y = 
5

2
x + 1 6)  y = 

3

4
x - 2 7)  y = 

7

5
x + 3

8)  y = 2x + 4

9)  y = -
1

2
x + 1 10)  y = 

1

2
x - 2

11)  y = 3 12)  x = -5

13)  y = -
7

5
x - 

3

5
14)  y = 

1

2
x + 

5

2

15)  y = -x + 1
16)  y = -

1

3
x + 

7

3
17)  x = 5

18)  y = 
1

5
x + 

16

5
19)  y = -

2

5
x - 

9

5
20)  y = 

5

3
x - 

1

3


